XHEB TBETF p74 (A-L%) LD5IH

(2) WELOTERY )
(1) H-D>+FE o
+6 i
(a) EWLE (H6-2) T
Pa-3YH?K, (6-1)
X6-2 J-0>FXFEDES
cos?(¢p+a) 1

K, = .
A 2414 [F@+8sin(@=D) * cos(a-8) (6-2)
costa cos(a—68)cos(a+i)

ZCIC, v TOBAMMEEE, H:EBAROSES, K, 7-0D0OFEITERE (4K-3),
¢ TORNBPEERA, o BARCEEADTEOMOEERRS, o: BAEEMIALRTA,
/. BAHKREDERIA.

(b) Z@tE
Pp—5YH?Kp (6-3)

cos?(¢p—a) 1

2] 1 [n@=8sin@+D ? cos(a-9) (6-4)
costa cos(a—-6)cos(a+i)

ZZIC, Kp: V-ODORBIERER (95%-4)

sz

(c) BADIREACEHMEDHDHE

Pa= 5 YH2K, + qoHK, (65)

Pp—3YH?Kp + qoHKp (6-6)
2T, qo | EHTEERS

(A%) BARMINDZERAbEESED , ILBEINDF S KINEER 1Fk



